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11/22-23/ Mathematics/
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fawa / QUi / i / qeE & SRR
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TG /Mathematics 100
g - wifvra

TE forhed %GR (v) 78 ST, / Mark (v) against the correet option  10x 2 = 20

9.1 UIR 18 I, GUIH 3 & WHT &4 T A S1ed &R T —

9.2

9.3

9.4

On dividing integer 18 by integer 3, the obtained value will be -

) 5 6

@ 7 @ 3

% T TS €I &R | / The simplest form of g will be.
2 4

@) S
5 6

@ = @ -

N NN X\

&1 103 H e F1.37g %4-a1 2/ Hundredth number in 103

@) 10

® 0

<1 U HI0 HTANTETE | The

sum of

@) 30°

@) 90°

@ 1
@ 3

@) 180"
@ 360

two complementary angles is -
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9.5 EEA1345 § 5 H THITRA JHU1 FX O T A S &61 |/ By doing an

9.6

9.7

9.8

9.9

9.10

- Tl 1 9fd FRIT | Fill in the blanks -

9.11
9.12

Ekadhiken Puraven of 5 in the number 345, the newly obtained number will

be -
(31) 435
(@) 355

@) 346
(@ 145

2RI % g,éa??f fam G| %/ What comes before Friday

(3) AR/ Monday
@) FAFER/ Saturday

() @A/ Thursday
() HIHAR/Tuesday

GHIFT x + 4 = 10 &, Al x H1 A 41 &1 ?

If the equation is x + 4 = 10, then what will be the value of x?

(®) 3

® 6

AF S ®1 / Find the value
(1) 24.54

(|) 0.2454

IO ERT/ Multiply 4. 13'% 0
(1) 13

@ -13

PRIt % el AT FTFRT8 | The sum of the three angles of a triangle is -

31) 180"
@) 90"

g5 W/ Solve: 75+5=
gS® /Solve:17— =0

@ 5

(@) 7

2454+ 100

@) 2454

(@) T ®E
@ 0

@) T FE
@) 360"

@ 45

(25 / 15)

(17/18)

5x2=10
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25 = 4 5
13 2 F T T o 0T | (E/Z)
The simplest form of 2 willbe .............
20
9.14 300 F15% &R ...oeenn (15 / 150)
5% of 300 would be. ................
9.15 e quits @& R T AIPOEA N ... oTed &R T (0 / quiieh T )

On multiplying any integer number by zero, we will get .............

A 1 G ddi=sq, | State true or false. 5x1=5

9.16 300 &1 5% =50/ 5% of 300 = 50

9.17 Tk HIcHE JUIT, ST SRUTCH: JUTT+ | ST 2T e |

A positive integer is always greater than a negative integer.

9.18 U el RAhT SRR AT GH &1, 98 TAIHIG S FEadl & |

Such figures which have the same size and shape are called symmetrical

figures.

9.19 {oRelt erpla 3 @t yemetl &1 99 aRATY FESai & |

The sum of all the sides of a'figure is called the perimeter.

920 44 B THGH 46 & | / The “Ekanyun’ of 44 is 46.

HEl Siel Be@M HINT | Match the correct pair. 5x2=10
921 -4x-3 (F) 14
9.22 15 1 THITRA @) 16
Ekadhiken of 15 16
¥.23 13 %1 TR G 12
The Ekadhiken of 13 12
Y24 9 H ATRS () &R X e
Area of square Length x Width
925 ST &l &ETRS () S x 3T
Area of rectangle side x side
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T 303 A I fSRAT | Write the answer in one word. 5x1=5
9.26 FHFL X + 4 = 12 H x HT A el |
Find the value of x in the equation x + 4 = 12.
9.27 9d ! QR = SE fRaq | /Wrrite the formula for the circumference of a circle ?
9.28 IUHHS Fd FX | Find the product.
107
x 103
5.29 3~ ffsr v i fowm e & sl
Convert the 3 % mixed fraction into.improper fraction.
9.30 &S ® Simplify 100 - 50 + 50
HfSgSTId 2/ Very short answer type questions - 5x2=10
9.31 HHE A % /Find the Value : 40 1 60% / 60% of 40
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9.32 Al THIR IS I 4R 10 1. T S8 20 G, B, I S5 Jd HifsTa /1If the
base of the parallelogram is 10 cms. and the height is 20 cms., then find the

area.

9.33 EHIFU & Td ®L / Find the solution of the equation -

2x—-3=10

934 1,56 anEd d ®ifed/ Find the averageof 1, 5, 6.

9.35 FRS % &5he R G [SRIT / Write the formula of an area of triangle

FYIANE S&H /Short answer type questions -
9.36 G RaeH § 928 | Subtract using the formula Nikhilam.

80000
-13456

5x4=20
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9.37 WA STHd § I 791 THId & / What do you understand by symmetry

shape ?

9.38 [q-EeH TEA R GHET 6 H aeiou |

Convert Vinculum number to normal number

9.39 300 T 400% FI {E F41 &1 / What will'be the value of 400% of 300.

940 AEd © Y 791 §HEI & / What do you mean by average?
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e 9= / Long answer type questions - 10x2=20

941 x 9y % A FA BT | Determine the value of x and y.

/

v

A

0

50

X

0

<« /yu

v

942 O g | 10 feranfat w1 R fm E -

The weights of 10 students in a gurukul are as follows.

12, 30, 25, 20, 28, 18, 22, 33,17, 15

ITIAA ! N TETTA & AT I AT |
Find the mean with the help of the above data.
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